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Q1.

Q2.

AnswerAIIQuestions.
Thefiguresintherighthand margin indicateMarks.Symbolscarryusualmeaning.

Answer allQuestions.

ajDifferentiatebetweenplanesurveyand geodeticsurvey.
6} How toperformlevelingwhen theBM isabovethelineofcollimation?
C) Writethedifferencesbetweendeclination,dipofneedle.

a) A riverisflowingfromwesttoeast.For determiningthewidthoftheriver,two
pointsA and B areselectedonthesouthernbank such thatdistanceAB=100m.
PointA iswestwards.The bearingsata treeC onthenorthernbankareobservedto
be 40°and340°,respectivelyfrom Aand B.Calculatethewidthoftheriver.

b)Writedowntheclassificationofsurveying.

OR
c) ASurveylineABCcrossinga riveratrightangles cutitsbanks atB and C.To

determinethewidthBCoftheriver,thefollowingoperationwas carriedout.

A60 m longlineBE was setoutroughlyparalleltotheriver.LineCE was extended

toD andmid-pointF ofDBwas established.ThenEF was extendedtoG suchthat

FG -EF.LineDGwas extendedtocutthesurveylineABCat H.GHandHB were

measuredand foundtobe 40 m and 80 m,respectively.Findthewidthoftheriver.

d)Writedownthegeneralprincipleofsurveying
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Q3.

a) A linewas measuredwitha steeltapewhichwas exactly30 m ata temperatureof

20°Cand apullof10kg.The measured lengthwas 1650m. The temperatureduring

measurementwas 30°Cand thepullappliedwas 15kg.Findthetruelengthofthe

line,ifthe cross-sectionalarea ofthe tape was 0.025 cm. The coefficientof

expansionofthe materialofthe tapeper°Cis3.5x10°and modulus ofelasticityof

thematerialoftapeis2.1x10kg/cm.

b) Writedown thedifferentmethodand instrumentusedtodraw perpendicularoffsetin

chainsurveying.

OR

C) The followingconsecutivestaffreadingswere takenwith a 4 m staff,thelevel
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nd

havingbeen moved forwardafter2,6 and_ghreadings:0.585, 2.955,1.855.
1.265,2.925,0.35,2.35,2.855, 1.655,2.685,and2.435.The RL ofthe firstpoint
is101.65m.Enterthereadingsin levelbook and applyusualchecks.Findthe
differenceofRL offirstandlastpoints.INOTE:UseHeightofInstrumentMethod]

What isreciprocalleveling?Explainitwiththehelpofsketch.

Q4.

a) Thefollowingarethebearingsofthelinesofa closedtraverseABCD.

Line ForeBearing
AB

N 45°10'E
BC S 60°40 E
CD S 9°50W
DA N 80°40*W

Calculatetheinterioranglesofthetraverse.

b) Writethedifferencebetweensurveyorandprismaticcompass

OR
The followingbearingswere takeninrunninga closedcompass traversevwhile
surveyinginJhansi,Allahabad:
Line FB. B.B.
AB 48°25" 230°00*
BC 177°45 356°00
CD 104°15" 284°55*
DE 165°15" 345°15'
EÀ 259°30 79°00)Statethestationswhichareaffectedbylocalattractionandbyhow much.
)Determinethecorrectbearings.
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Writethedifferencebetweentruebearingandmagneticbearing.Calculatethetrue
bearings,ifthedeclinationwas 1°30'W fortheabovecompasstraversedata.
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